YORKSHIRE SECOND ELEVEN IN THE MINOR COUNTIES CHAMPIONSHIP SEASON 1906 - FINAL TABLES

	Team	P	W	L	DWF	DLF	ND	Pts	PtsPC
	Points awarded	-	3	-	2	-	-	-	-
1	Staffordshire	10	7	1	2	0	0	25	83.333
2	Devon	10	6	1	2	1	0	22	73.333
3	Berkshire	10	5	3	2	0	0	19	63.333
	Surrey 2nd XI	10	5	2	2	1	0	19	63.333
5	Bedfordshire	9	4	2	2	0	1	17	62.963
6	Hertfordshire	10	4	2	3	1	0	18	60.000
	Yorkshire 2nd XI	10	6	3	0	1	0	18	60.000
8	Norfolk	7	4	3	0	0	0	12	57.143
9	Durham	10	5	5	0	0	0	15	50.000
	Glamorgan	12	6	4	0	2	0	18	50.000
11	Dorset	8	3	3	1	1	0	11	45.833
12	Monmouthshire	9	1	3	4	1	0	11	40.741
13	Wiltshire	10	4	4	0	2	0	12	40.000
14	Suffolk	5	1	2	1	1	0	5	33.333
15	Cambridgeshire	7	2	4	0	1	0	6	28.571
16	Buckinghamshire	8	2	5	0	1	0	6	25.000
17	Cornwall	7	1	3	0	3	0	3	14/286
18	Oxfordshire	8	1	6	0	1	0	3	12.5000
19	Lancashire 2nd XI	8	0	5	1	2	0	2	8.333
20	Northumberland	8	0	6	0	1	1	1	4.167

Order in the table - Position of teams in the table is decided by the percentage of possible points

FINAL AVERAGES – BATTING AND FIELDING

PLAYER	MATCHES	INNINGS	NOT	TOTAL	HIGHEST	AVERAGE	100s	50s	Ct / St
			OUT	RUNS	SCORE				
B B Wilson	4	7	3	172	82	43.00	-	1	1
A Farrar	4	8	2	249	76	41.50	-	2	-
R W Frank	6	8	0	320	110	40.00	1	1	2
F Gill	3	6	1	165	57	33.00	-	2	-
C H Hardisty	7	12	1	339	66	30.81	-	3	1
G Tattersall	8	15	0	309	79	20.60	-	2	9
C H Grimshaw	2	4	0	75	35	18.75	-	-	2
B H Wilkinson	2	3	0	56	54	18.67	-	1	2
N Robinson	7	13	1	195	56*	16.25	-	1	2
B Lawrence	2	4	0	62	32	15.50	-	-	2
F Hutchinson	2	3	0	36	31	12.00	-	-	ı
J E Elms	10	17	3	165	27	11.78	-	-	3
A Dolphin	9	14	6	93	24*	11.62	-	-	15/2
A Turner	3	6	1	52	33	10.40	-	-	4
E Hey	4	7	0	69	38	9.85	-	-	3
C H Parkin	3	4	1	27	11	9.00	-	-	ı
R S Leather	2	3	0	23	11	7.67	-	-	1
G Braithwaite	3	5	0	31	14	6.20	-	-	0
E Robinson	2	4	0	22	10	5.50	-	-	2
G Deyes	7	9	4	24	11	4.80	-	-	3
H Wilkinson	2	4	0	17	10	4.25	-	-	2
C Oyston	9	13	1	50	11	4.16	-	-	12
H Russell	2	4	0	12	7	3.00	-	-	1
D C F Burton	2	3	0	8	4	2.67	-	-	2

ALSO BATTED

PLAYER	MATCHES	INNINGS	NOT	TOTAL	HIGHEST	AVERAGE	100s	50s	Ct / St
			OUT	RUNS	SCORE				
H A Sedgwick	1	2	1	46	30*	46.00	-	ı	ı
J W Rothery	1	2	0	54	33	27.00	-	-	-
C H Heddon	1	2	0	28	17	14.00	-	-	-
H Wordsworth	1	2	0	12	7	6.00	-	-	1/1
J A Brookes	1	1	1	0	0*	-	-	ı	1

BOWLING AVERAGES

PLAYER	OVERS	MAIDENS	RUNS	WICKETS	AVERAGE	BEST	5wI	10wM
						FIGURES		
J A Brookes	16	3	30	4	7.50	4/19	i	-
H A Sedgwick	20.3	6	43	5	8.60	4/26	i	-
R W Frank	11.3	1	48	5	9.60	3/16	-	-
G Deyes	110.4	17	311	24	12.95	6/57	1	-
C Oyston	310.3	64	866	61	14.19	7/52	6	1
C H Parkin	51	6	186	13	14.30	5/31	1	-
J E Elms	275.3	46	754	51	14.78	6/25	5	2
B B Wilson	23	0	87	4	21.75	2/18	-	_

ALSO BOWLED

PLAYER	OVERS	MAIDENS	RUNS	WICKETS	AVERAGE	BEST FIGURES	5wI	10wM
B H Wilkinson	11	2	30	1	30.00	1/16	-	-
B Lawrence	20	2	70	0	-	-	-	-
E Robinson	4	0	13	0	-	-	-	-

LINE SCORES OF MATCHES PLAYED

- v Surrey (Woodcote Rd, Epsom) 24 & 25 May 1906 *Surrey 222 (W A Spring 77; C Oyston 7/112) & 68/2 beat Yorks 103 (W A Spring 5/41, M T Jackson 5/51) & 184 (J H Moulder 5/56) by eight wkts
- v Lancashire (Old Trafford) 4 & 5 June 1906 *Lancs 216 (G Deyes 6/57) & 204 (T Ainscough 119; C Oyston 6/78, J E Elms 3/54) drew with Yorks 171 (F Gill 57; L S Rowlands 5/41) & 186/7 (G Tattersall 78; L Hewetson 4/60)
- v Northumberland (Jesmond) 14 & 15 June 1906 *Northumberland 187 (J E Elms 5/68, C Oyston 3/68) & 160 (J E Elms 5/73 [and match figs of 10/141], G Deyes 4/39) lost to Yorks 238 (G Tattersall 79; G Elsey 4/60) & 113/5 (F Gill 52*) by five wkts
- v Surrey (Barnsley CC) 20 & 21 June 1906 *Yorks 178 (C H Hardisty 52; W C Smith 6/89,L M H Gooder 3/51) & 303/7d (B B Wilson 82, C H Hardisty 60, N Robinson 56*; M T Jackson 4/134) beat Surrey 131 (F Stedman 64; C Oyston 7/52) & 92 (G Deyes 4/10, C Oyston 3/34 [and match figs of 10/86]) by 258 runs

- v Durham (South Shields) 27 & 28 June 1906 *Yorks 249 (R W Frank 110, A Farrar 76; A Morris 5/77, R Y Brydon 4/72) & 57/0 beat Durham 140 (C H Parkin 5/31) & 165 (A Morris 60; C Oyston 4/54, C H Parkin 3/26, G Deyes 3/47) by 10 wkts
- v Durham (Wath Athletic Gd, Wath-upon-Dearne) 9 & 10 July 1906 *Durham 74 (J E Elms 6/36, C Oyston 4/37) & 196 (E W Elliot 87; C Oyston 5/58, J E Elms 3/69) lost to Yorks 210 (A Farrar 59; A Burn 5/16) & 63/2 by eight wkts
- v Staffordshire (Thrum Hall, Halifax) 11 &12 July 1906 Staffs 299 (J B Fereday 73*, H D Stratton 70, A Hollowood 51; C Oyston 6/74, C H Parkin 3/99) beat Yorks 89 (S F Barnes 7/41) & 116 (S F Barnes 5/47 [and match figs of 12/88], A Bucknell 4/39) by an inns & 94 runs
- v Lancashire (Harrogate CC) 6 & 7 Aug 1906 Yorks 244 (C H Hardisty 66, R W Frank 55, B H Wilkinson 54; W A Mather 5/55) & 8/0 beat Lancs 127 (C Oyston 5/58, J E Elms 3/32) & 121 (R W Frank 3/16) by 10 wkts
- v Staffordshire (County Gd, Stoke-on-Trent) 8 & 9 Aug 1906 Yorks 35 (S F Barnes 6/21, R J Mee 4/14) & 47 (S F Barnes 5/25 [and match figs of 11/46], R J Mee 5/21) lost to Staffs 57 (J E Elms 6/25, C Oyston 4/32) & 26/0 by 10 wkts

 (This match lasted just four hours on the first day and no bowling changes occured throughout the whole game)
- **v Northumberland (Ripon CC) 23 & 24 Aug 1906** *Yorks 160 (G Elsey 4/60, W Veitch 3/28) & 140/8d (J Marshall 4/46, F G H Clayton 3/23) beat Northumberland 84 (J E Elms 6/46, H A Sedgwick 4/26) & 79 (J A Brookes 4/19, J E Elms 4/30 [and match figs of 10/76]) by 137 runs

CAREER FIGURES AND BIOGRAPHICAL DETAILS (WHERE KNOWN) OF PLAYERS WHO MADE THEIR DEBUTS IN 1906

74) **George BRAITHWAITE** – No biographical details are available for this player.

Yorks career – 1906-1910. His highest score (36) was made against Staffs at the County Gd, Stoke-on-Trent on 8 & 9 Aug 1910 (Minor Counties Championship)

2nd XI Minor Counties Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
5	9	0	91	36	10.11	-	-	-
_								
2nd XI Friendly Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St

75) **J A BROOKES** – No biographical details are available for this player.

Yorks career – 1906-1912. His score of 7 was made against Surrey at Clifton Lane SG, Rotherham, on 10 & 11 Aug 1910. His best bowling figs (5/30) came in friendly cricket against Major Shaw's XI at Featherstone Miners Welfare Gd, W Yorks, on 16 & 17 Aug 1906

CAREER STATISTICS - BATTING & FIELDING

2nd XI Minor Counties Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
1	1	0	0	0*	-	-	-	1
2nd XI	Inns	Not	Total	III: also ad	Awaraga	100s	50	CHICA
Friendly Matches	111115	Outs	Runs	Highest Score	Average	1008	50s	Ct/St

BOWLING

2nd XI Minor Counties	Overs	Maidens	Runs	Wickets	Average	Best Figures	5wI	10wM
Matches	16	3	30	4	7.50	4/19	-	-
2nd XI	Overs	Maidens	Runs	Wickets	Average	Best	5wI	10wM
Friendly					0	Figures		

76) **David Cecil Fowler BURTON** – Born 13 Sept 1887 in Bridlington, E Yorks Died 24 Sept 1971 in Chertsey, Surrey, aged 84.

He was a RH batsman

First Class debut – for Cambridge Un v Surrey at Fenner's on 30 May to 1 Jun 1907. His first-class debut for Yorks was against Cambridge Un, also at Fenner's, on 6-8 June 1907. His Yorks career lasted from 1906 to 1922

His highest score of 142* was made against Hants at the Dewsbury & Savile Gd, W Yorks, on n11 & 12 July 1919 (County Championship)

CAREER STATISTICS - BATTING & FIELDING

1st Class Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
132	171	20	3057	142*	20.24	2	12	54
2nd XI Minor Counties Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
2	3	0	8	4	2.67	-	-	2
2nd XI Friendly Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
4	6	2	79	39	19.75	-	-	-

He won the County Championship in his first season in charge, which was 1919. He had served with the third battalion Northumberland Fusiliers in the First World War.

77) Fairfax GILL – Born 3 Sept 1883 in Wakefield

Died 1 Nov 1917 in Boulogne-sur-Mer, Pas de Calais, France. He is buried at Wimereux, also in the Pas de Calais.

First Class debut – v Derbys at Queen's park, Chesterfield on 7-9 June 1906 (County Championship). His Yorks career lasted from 1903to 1906.

His highest first-class score (11) was made against Notts at Trent Bridge on 21-23 June 1906 (County Championship).

His career-best score (57) was made against Lancs at Old Trafford on 4 & 5 June 1906 (Minor Counties Championship)

1st Class Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
2	4	0	18	11	4.50	-	-	-
2nd XI Minor Counties Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
3	6	1	165	57	33.00	-	2	1
2nd XI Friendly Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
2	3	0	36	26	12.00	-	-	1

78) Charles Henry HARDISTY – Born 10 Dec 1885 in Horsforth, Leeds Died 2 March 1968 in Leeds, aged 82.

He was a RH Batsman.

First Class debut – v Leics, Aylestone Rd, Leicester, on 9-11 Aug 1906 (County Championship)

Yorks career – 1906-1910. In 1911 and 1912, he played for Northumberland in the Minor Counties Championship.

His highest first-class score (84) was made against Leics at the Aylestone Rd Ground on 11-13 June 1908 (County Championship)
His career-best score of 193 came in the Minor Counties Championship against Northumberland at Jesmond on 21 & 22 June 1909.

CAREER STATISTICS - BATTING & FIELDING

1st Class Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
39	57	5	998	84	19,19	-	5	20
2nd XI Minor Counties Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
29	39	5	996	193	29.29	2	4	6
2nd XI Friendly Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
11	18	1	304	73	17.88	-	1	4

BOWLING

2nd XI Minor Counties	Overs	Maidens	Runs	Wickets	Average	Best Figures	5wI	10wM
Matches	2	0	17	0	-	-	-	-
2nd XI Friendly	Overs	Maidens	Runs	Wickets	Average	Best Figures	5wI	10wM
Matches	3	1	8	0	-	-	-	-

Hardisty was another player whose initial promise had quickly faded.

79) C H HEDDON – No biographical information is available for this player. He played just one Minor Counties Championship match against Northumberland at Ripon CC on 23 & 24 Aug 1906. He scored 17 and 11. He did not bowl and did not take any catches.

80) Cecil Harry PARKIN – Born 18 Feb 1886 in Eaglescliffe, Co Durham. He had one season with Yorks (1906) until this accident of birth was discovered. However, Lord Hawke was also born outside the county boundary, in Willingham by Stow, near Gainsborough in Lincs. He died on 15 June 1943 in Cheetham Hill, Manchester, aged 57.

He was a RH batsman and LB and OB bowler.

Test debut – v Australia, Sydney CG, 17-22 Dec 1920.

First Class debut – v Glos, Headingley on 2-4 July 1906. This was the only first-class game he played for Yorks before his career resumed in 1914 with Lancs, for whom he played a further 163 first-class games, up to of the 1926 season.

Yorks career – 1906. After he left Yorks, he played Minor Counties cricket for Durham from 1907 to 1913 before joining Lancs.

His highest Test score (36) came in his fifth test, which was, in fact the fifth test of the 1920/21 Ashes series. This game was also played at the Sydney CG, as only there, Melbourne and Adelaide were used for this five-match series.

His best test bowling figures (5/38) came against Australia at Old Trafford on 23 to 26 July 1921.

His highest first-class score (57) was made against Kent at Old Trafford on 7-9 June 1922 (County Championship)

His best first class bowling figs (9/32) came in the game against Leics at the Bath Grounds, Ashby-de-la-Zouch on 21-24 June 1924 (County Championship)

Test Matches	Inns	Not	Total	Highest	Average	100s	50s	Ct/St
		Outs	Runs	Score				
10	16	3	160	36	12.30	-	-	3
1st Class	Inns	Not	Total	Highest	Average	100s	50s	Ct/St
Matches		Outs	Runs	Score				
197	239	33	2425	57	11.77	-	4	126
2nd XI Minor Counties Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
3	4	1	27	11	9.00	-	-	-

BOWLING

Test Matches	Overs	Maidens	Runs	Wickets	Average	Best Figures	5wI	10wM
	349.1	55	1128	32	35.25	5/38	2	-
1st Class Matches	Overs	Maidens	Runs	Wickets	Average	Best Figures	5wI	10wM
	6882.1	1749	18434	1048	17.58	9/32	93	27
2nd XI Minor Counties	Overs	Maidens	Runs	Wickets	Average	Best Figures	5wI	10wM
Matches	51	6	186	13	14.30	5/31	1	-

81) N ROBINSON – Born in 1886 in Skipton, N Yorks. His career with Yorks lasted from 1904 to 1910. His highest score of 56* came against Surrey at Barnsley CC on 20 &21 June 1906. His best bowling return of 2/1 came against Northumberland at Jesmond on 24 & 25 June 1907. Both feats were in the Minor Counties Championship.

CAREER STATISTICS - BATTING & FIELDING

2nd XI Minor Counties Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
13	23	2	243	56*	11.57	-	1	7
2nd XI Friendly Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
4	6	0	51	36	8.50	-	-	3

BOWLING

2nd XI Minor	Overs	Maidens	Runs	Wickets	Average	Best	5wI	10wM
Counties						Figures		
Matches	0.5	0	1	2	0.50	2/1	-	-
2nd XI	Overs	Maidens	Runs	Wickets	Average	Best	5wI	10wM

Friendly						Figures		
Matches	1.3	0	5	1	5.00	1/5	ı	-

82) **H RUSSELL** – Born in 1882 in Hunslet, Leeds. His Yorks career was very brief, encompassing matches just in 1906. His highest score off 33* occurred in the match against Mexborough at the Wath-upon-Dearne Athletic Gd.

CAREER STATISTICS - BATTING & FIELDING

2nd XI Minor Counties Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
2	4	0	12	7	3.00	-	-	1
2nd XI	Inna	Nat	Total	III: also ad	A	100s	50	CAICA
Friendly Matches	Inns	Not Outs	Total Runs	Highest Score	Average	1008	50s	Ct/St

83) Herbert Amos SEDGWICK – Born 8 April 1883 in Richmond, N Yorks.

Died on 28 Dec 1957 in Stoke-on-Trent, Staffs, aged 74.

He was a RH batsman and a RA fast bowler.

First Class debut – v Worcs, The Circle, Hull on 30 July to 1 Aug 1906.

Yorks career – 1906 to 1907. After he left Yorks, he played cricket for Staffs from 1910 to 1928, mostly in the Minor Counties Championship.

His highest first class score (34) was made against Lancs at Old Trafford

His best bowling return (5/8) arrived in his debut match against Worcs. Both performances were career-best achievements

1st Class Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
3	5	2	53	34	17.67	-	1	2
2nd XI Minor	Inns	Not	Total	Highest	Average	100s	50s	Ct/St

Counties Matches		Outs	Runs	Score				
4	7	1	78	30*	13.00	-	-	-
2nd XI Friendly Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
2	3	0	29	19	9.67	-	-	2

BOWLING

1st Class	Overs	Maidens	Runs	Wickets	Average	Best	5wI	10wM
Matches						Figures		
	70	10	327	16	20.43	5/8	1	-
2nd XI Minor	Overs	Maidens	Runs	Wickets	Average	Best	5wI	10wM
Counties						Figures		
Matches	41.5	7	158	6	26.33	4/26	-	-
2nd XI	Overs	Maidens	Runs	Wickets	Average	Best	5wI	10wM
Friendly						Figures		
Matches	34	7	120	5	28.00	3/49	-	-

84) **Alban TURNER** – Born 2 Sept 1885 in Darton, Barnsley Died on 29 Aug 1951 in Goldthorpe, Barnsley, aged 75.

First Class debut – v Surrey at Bradford PA on 4-6 July 1910 (County Championship) Yorks career – 1906 to 1911.

His highest first-class score (37) was made against Warwicks at Fartown, Huddersfield on 14-16 July 1910 (County Championship)
His career-best score (128) came against Northumberland at Jesmond on 20 & 21 June 1910 (Minor Counties Championship)
His only bowling success (2/15) was achieved against the Heavy Woollen District on 19 & 11 July 1911 at the Dewsbury & Savile Gd. (Friendly)

1st Class Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
9	16	1	163	37	10.86	ı	-	7

2nd XI Minor Counties Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
32	59	2	948	128	16.63	2	2	15
2nd XI Friendly Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
1,14tciics								

BOWLING

2nd XI Friendly	Overs	Maidens	Runs	Wickets	Average	Best Figures	5wI	10wM
Matches	5.5	0	23	2	11.50	2/23	-	-

85) **B H WILKINSON** – Born in 1879 in Sheffield. His Yorks career was very brief, involving just two Minor Counties Championship games in 1906. His best batting score (54) was made against Lancs at Harrogate CC on 6 & 7 Aug 1906. His best bowling figures were taken in the same match.

CAREER STATISTICS - BATTING & FIELDING

2nd XI Minor Counties Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
2	3	0	56	54	18.67	-	1	2

BOWLING

1st Class Matches	Overs	Maidens	Runs	Wickets	Average	Best Figures	5wI	10wM
	11	2	30	1	30.00	1/16	ı	-
